


2021 October

TEKNOROT REF: A-1068 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

A6

MODEL NO BODY YEAR DIRECTION OEM NO

4A2, C8 2018-
Rear Right

Forward
4M0505292F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

TEKNOROT REF: A-1068 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

A7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4KA 2018-
Rear Right

Forward
4M0505292F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: A-1068 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

E-TRON

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2018-
Rear Right

Forward
4M0505292F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

TEKNOROT REF: A-1068 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

Q5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FY 2017-
Rear Right

Forward
4M0505292F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: A-1068 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

Q7

MODEL NO BODY YEAR DIRECTION OEM NO

4M 2017-
Rear Right

Forward
4M0505292F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

TEKNOROT REF: A-1069 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

A6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4A2, C8 2018-
Rear Left
Forward

4M0505291F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: A-1069 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

A7

MODEL NO BODY YEAR DIRECTION OEM NO

4KA 2018-
Rear Left
Forward

4M0505291F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

TEKNOROT REF: A-1069 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

E-TRON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018-
Rear Left
Forward

4M0505291F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: A-1069 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

Q5

MODEL NO BODY YEAR DIRECTION OEM NO

FY 2017-
Rear Left
Forward

4M0505291F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

TEKNOROT REF: A-1069 ADAPTABLE AUDI
Lateral Arm

Weight: 0,94

Q7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4M 2017-
Rear Left
Forward

4M0505291F

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 360,5

SB 25129
Lateral Arm

Bushing
Rear 8W0505324F*, 8W0505323F*

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: AC-263 ADAPTABLE HONDA
Steering Tie Rod

Weight: 0,595

RIDGELINE

MODEL NO BODY YEAR DIRECTION OEM NO

YK2/3 2017-2019 Front 53010T6ZA01, 53010TG7A01

Length: 218,5 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: AC-263 ADAPTABLE HONDA
Steering Tie Rod

Weight: 0,595

PASSPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YF7/8 2019- Front 53010T6ZA01, 53010TG7A01

Length: 218,5 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: AC-263 ADAPTABLE HONDA
Steering Tie Rod

Weight: 0,595

PILOT

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2016- Front 53010T6ZA01, 53010TG7A01

Length: 218,5 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: B-1178 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 2,346

3-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

F30 2012-2018
Front Right

Lower Forward
31126798254

COMPONENTS NUMBER NAME DIRECTION OEM NO

XDrive Gt

Length: 382,6 Bolt Metric: M14X1,5

SB 1334
Control Arm

Bushing
Front Lower 31126854724*, 31126854723*

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: B-1179 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 2,346

3-SERIES

MODEL NO BODY YEAR DIRECTION OEM NO

F30 2012-2018
Front Left

Lower Forward
31126798253

COMPONENTS NUMBER NAME DIRECTION OEM NO

XDrive Gt

Length: 382,6 Bolt Metric: M14X1,5

SB 1334
Control Arm

Bushing
Front Lower 31126854724*, 31126854723*

TEKNOROT REF: B-1288 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 3,48

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05 2019-
Front Right

Lower
Rearward

31106878082

Length: 349 Bolt Metric: M16X1,5

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: B-1289 ADAPTABLE BMW
Control Arm and Ball Joint

Weight: 3,48

X5

MODEL NO BODY YEAR DIRECTION OEM NO

G05 2019-
Front Left

Lower
Rearward

31106878081

Length: 349 Bolt Metric: M16X1,5

TEKNOROT REF: CH-1088 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 2,085

IMPALA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2014-2019 Rear Right 22927293

Length: 306

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: CH-1088 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 2,085

MALIBU

MODEL NO BODY YEAR DIRECTION OEM NO

8th Gen 2013-2016 Rear Right 22927293

Length: 306

TEKNOROT REF: CH-1088 ADAPTABLE BUICK
Lateral Arm

Weight: 2,085

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2010-2016 Rear Right 22927293

Length: 306

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: CH-1088 ADAPTABLE BUICK
Lateral Arm

Weight: 2,085

REGAL

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2011-2016 Rear Right 22927293

Length: 306

TEKNOROT REF: CH-1089 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 2,085

IMPALA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2014-2019 Rear Left 22927292

Length: 306

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: CH-1089 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 2,085

MALIBU

MODEL NO BODY YEAR DIRECTION OEM NO

8th Gen 2013-2016 Rear Left 22927292

Length: 306

TEKNOROT REF: CH-1089 ADAPTABLE BUICK
Lateral Arm

Weight: 2,085

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2010-2016 Rear Left 22927292

Length: 306

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: CH-1089 ADAPTABLE BUICK
Lateral Arm

Weight: 2,085

REGAL

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2011-2016 Rear Left 22927292

Length: 306

TEKNOROT REF: FO-1128 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 6,42

MUSTANG

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2005-2014
Front Right

Lower
CR3Z3078D

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,2

FO-1134
Suspension

Ball Joint
Front Lower

FL3Z3078B*, FL3Z3050A,
FL3Z3050B, FL3Z3079B*

FD-BS260

YEAR ONLY
2010-2014

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-1129 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 6,42

MUSTANG

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2005-2014
Front Left

Lower
CR3Z3079D

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 361,2

FO-1134
Suspension

Ball Joint
Front Lower

FL3Z3078B*, FL3Z3050A,
FL3Z3050B, FL3Z3079B*

FD-BS260

YEAR ONLY
2010-2014

TEKNOROT REF: FO-1192 ADAPTABLE FORD
Steering Tie Rod End

Weight: 1,178

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

12th Gen 2009-2015 Front Outer AL3Z3A130A

Only For Svt Raptor

Length: 223 Bolt Metric: M14X2 Housing Metric: M16X1,5

YEAR ONLY
2010-2014

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-1368 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 3,308

ECOSPORT

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen / BK 2013- Front Right 2106518

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 348,3

MA-995
Suspension

Ball Joint
Fron Lower D09H34300E*, D09H34300C*

TEKNOROT REF: FO-1369 ADAPTABLE FORD
Control Arm and Ball Joint

Weight: 3,308

ECOSPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen / BK 2013- Front Left 2106530

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 348,3

MA-995
Suspension

Ball Joint
Fron Lower D09H34300E*, D09H34300C*

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-1377 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,871

F-350 SUPER DUTY

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 2011-2016 Rear DC3Z5K484B

Length: 387 Bolt Metric: M12X1,75

YEAR ONLY
2013-2016

TEKNOROT REF: FO-1377 ADAPTABLE FORD
Stabilizer Bar Link

Weight: 0,871

F-250 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2011-2016 Rear DC3Z5K484B

Length: 387 Bolt Metric: M12X1,75

YEAR ONLY
2013-2016

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-1428 ADAPTABLE FORD
Lateral Arm

Weight: 2,205

ESCAPE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2007-2012
Rear Right

Lower
9L8Z5500C

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 521,5 Bolt Metric: M12X1,25

FO-1145
Suspension

Ball Joint
Rear Lower EF9128500*, YL8Z5500AC*

YEAR ONLY
2009-2012

TEKNOROT REF: FO-1428 ADAPTABLE MERCURY
Lateral Arm

Weight: 2,205

MARINER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2005-2011
Rear Right

Lower
9L8Z5500C

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 521,5 Bolt Metric: M12X1,25

FO-1145
Suspension

Ball Joint
Rear Lower EF9128500*, YL8Z5500AC*

YEAR ONLY
2009-2011

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-1429 ADAPTABLE FORD
Lateral Arm

Weight: 2,205

ESCAPE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2007-2012
Rear Left

Lower
9L8Z5500D

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 521,5 Bolt Metric: M12X1,25

FO-1145
Suspension

Ball Joint
Rear Lower EF9128500*, YL8Z5500AC*

YEAR ONLY
2009-2012

TEKNOROT REF: FO-1429 ADAPTABLE MERCURY
Lateral Arm

Weight: 2,205

MARINER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2005-2011
Rear Left

Lower
9L8Z5500D

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 521,5 Bolt Metric: M12X1,25

FO-1145
Suspension

Ball Joint
Rear Lower EF9128500*, YL8Z5500AC*

YEAR ONLY
2009-2011

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-571A ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,8

EXPEDITION

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1997-2003 Front Right 2L3Z3A130CA

2WD, Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: FO-571A ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,8

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 1997-2003 Front Right 2L3Z3A130CA

2WD , W/o Damper,
Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-571A ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,8

F-250

MODEL NO BODY YEAR DIRECTION OEM NO

10th Gen 1997-2003 Front Right 2L3Z3A130CA

Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: FO-571A ADAPTABLE LINCOLN
Steering Tie Rod End

Weight: 0,8

NAVIGATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-2003 Front Right 2L3Z3A130CA

2WD, Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-571A ADAPTABLE LINCOLN
Steering Tie Rod End

Weight: 0,8

BLACKWOOD

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1997-2003 Front Right 2L3Z3A130CA

Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: FO-572A ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,8

EXPEDITION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-2003 Front Left 2L3Z3A131AA

2WD, Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-572A ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,8

F-150

MODEL NO BODY YEAR DIRECTION OEM NO

10th Gen 1997-2003 Front Left 2L3Z3A131AA

2WD , W/o Damper,
Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: FO-572A ADAPTABLE FORD
Steering Tie Rod End

Weight: 0,8

F-250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 1997-2003 Front Left 2L3Z3A131AA

Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: FO-572A ADAPTABLE LINCOLN
Steering Tie Rod End

Weight: 0,8

NAVIGATOR

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 1997-2003 Front Left 2L3Z3A131AA

2WD, Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: FO-572A ADAPTABLE LINCOLN
Steering Tie Rod End

Weight: 0,8

BLACKWOOD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1997-2003 Front Left 2L3Z3A131AA

Plastic Bearing

Length: 226 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: H-1106 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,43

INSIGHT

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen, ZE1 2000-2006 Front Right 51320S3Y003

Length: 280 Bolt Metric: M10X1,25

TEKNOROT REF: H-1107 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,43

INSIGHT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen, ZE1 2000-2006 Front Left 51321S3Y003

Length: 280 Bolt Metric: M10X1,25

www.teknorot.com 24

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: H-1116 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,502

ODYSSEY

MODEL NO BODY YEAR DIRECTION OEM NO

5th Gen 2018- Front Right 51320THRA01

Length: 342 Bolt Metric: M12X1,25

TEKNOROT REF: H-1117 ADAPTABLE HONDA
Stabilizer Bar Link

Weight: 0,502

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2018- Front Left 51325THRA01

Length: 342 Bolt Metric: M12X1,25

www.teknorot.com 25

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: H-1163 ADAPTABLE HONDA
Steering Tie Rod

Weight: 0,484

FIT

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 2007-2013 Front 53010TK6A02

Length: 234 Bolt Metric: M14X1,5 Housing Metric: M16X1

TEKNOROT REF: HM-208 ADAPTABLE HUMMER
Control Arm and Ball Joint

Weight: 2,295

H3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2005-2010
Front Right

Upper
19354097

Length: 302

www.teknorot.com 26

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: HM-209 ADAPTABLE HUMMER
Control Arm and Ball Joint

Weight: 2,295

H3

MODEL NO BODY YEAR DIRECTION OEM NO

2005-2010
Front Left

Upper
19354098

Length: 302

TEKNOROT REF: HY-1056 ADAPTABLE HYUNDAI
Stabilizer Bar Link

Weight: 0,386

GENESIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DH 2014- Rear Right 55540B1000

Length: 135 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

www.teknorot.com 27

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: HY-1057 ADAPTABLE HYUNDAI
Stabilizer Bar Link

Weight: 0,386

GENESIS

MODEL NO BODY YEAR DIRECTION OEM NO

DH 2014- Rear Left 55530B1000

Length: 135 Bolt Metric: M12X1,25

YEAR ONLY
2014-2016

TEKNOROT REF: HY-1076 ADAPTABLE HYUNDAI
Stabilizer Bar Link

Weight: 0,509

SONATA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen, LF 2015- Front Right 54840E6000

Length: 349 Bolt Metric: M12X1,25

www.teknorot.com 28

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: HY-1076 ADAPTABLE KIA
Stabilizer Bar Link

Weight: 0,509

OPTIMA

MODEL NO BODY YEAR DIRECTION OEM NO

4th Gen, JF 2016- Front Right 54840E6000

Length: 349 Bolt Metric: M12X1,25

TEKNOROT REF: HY-1076 ADAPTABLE KIA
Stabilizer Bar Link

Weight: 0,509

CADENZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen, YG 2017- Front Right 54840E6000

Length: 349 Bolt Metric: M12X1,25

www.teknorot.com 29

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: HY-1077 ADAPTABLE HYUNDAI
Stabilizer Bar Link

Weight: 0,509

SONATA

MODEL NO BODY YEAR DIRECTION OEM NO

7th Gen, LF 2015- Front Left 54830E6000

Length: 349 Bolt Metric: M12X1,25

TEKNOROT REF: HY-1077 ADAPTABLE KIA
Stabilizer Bar Link

Weight: 0,509

OPTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen, JF 2016- Front Left 54830E6000

Length: 349 Bolt Metric: M12X1,25

www.teknorot.com 30

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: HY-1077 ADAPTABLE KIA
Stabilizer Bar Link

Weight: 0,509

CADENZA

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen, YG 2017- Front Left 54830E6000

Length: 349 Bolt Metric: M12X1,25

TEKNOROT REF: HY-1083 ADAPTABLE HYUNDAI
Steering Tie Rod

Weight: 0,541

EQUUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2011-2016 Front 577243M900

To 1-5-11

Length: 251,5 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

www.teknorot.com 31

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: HY-1083 ADAPTABLE HYUNDAI
Steering Tie Rod

Weight: 0,541

GENESIS

MODEL NO BODY YEAR DIRECTION OEM NO

BH 2008-2014 Front 577243M900

2009-2012 4.6L Eng,
2012-2014 5.0L Eng

Length: 251,5 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

TEKNOROT REF: HY-1103 ADAPTABLE HYUNDAI
Steering Tie Rod

Weight: 0,709

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV, TM 2018- Front 57726S2100

AWD

Length: 265 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

www.teknorot.com 32

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: JA-1098 ADAPTABLE JAGUAR
Control Arm and Ball Joint

Weight: 2,348

XE

MODEL NO BODY YEAR DIRECTION OEM NO

X760 2015-
Front Right

Lower
Rearward

T2H19027

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.0 AWD

Length: 363 Bolt Metric: M14X1,5

CH-914
Lateral Arm

Bushing
Rear 23461856*

JG-BS024
Control Arm

Bushing

Front Lower
Rearward

Outer

T2H19026*, T2H3194*,
T2H19029*, T2H3195*

TEKNOROT REF: JA-1098 ADAPTABLE JAGUAR
Control Arm and Ball Joint

Weight: 2,348

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X260 2016-
Front Right

Lower
Rearward

T2H19027

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.0 AWD

Length: 363 Bolt Metric: M14X1,5

CH-914
Lateral Arm

Bushing
Rear 23461856*

JG-BS024
Control Arm

Bushing

Front Lower
Rearward

Outer

T2H19026*, T2H3194*,
T2H19029*, T2H3195*

www.teknorot.com 33

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: JA-1099 ADAPTABLE JAGUAR
Control Arm and Ball Joint

Weight: 2,348

XE

MODEL NO BODY YEAR DIRECTION OEM NO

X760 2015-
Front Left

Lower
Rearward

T2H19030

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.0 AWD

Length: 363 Bolt Metric: M14X1,5

CH-914
Lateral Arm

Bushing
Rear 23461856*

JG-BS024
Control Arm

Bushing

Front Lower
Rearward

Outer

T2H19026*, T2H3194*,
T2H19029*, T2H3195*

TEKNOROT REF: JA-1099 ADAPTABLE JAGUAR
Control Arm and Ball Joint

Weight: 2,348

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X260 2016-
Front Left

Lower
Rearward

T2H19030

COMPONENTS NUMBER NAME DIRECTION OEM NO

2.0 AWD

Length: 363 Bolt Metric: M14X1,5

CH-914
Lateral Arm

Bushing
Rear 23461856*

JG-BS024
Control Arm

Bushing

Front Lower
Rearward

Outer

T2H19026*, T2H3194*,
T2H19029*, T2H3195*

www.teknorot.com 34

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: JE-449 ADAPTABLE JEEP
Lateral Arm

Weight: 2,056

CHEROKEE

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen, XJ 1984-2001 Front Lower 52001162

4X4

Length: 402

YEAR ONLY
1984-1999

TEKNOROT REF: JE-449 ADAPTABLE JEEP
Lateral Arm

Weight: 2,056

WRANGLER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TJ 1996-2007 Front Lower 52001162

Length: 402

www.teknorot.com 35

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: JP-BS043 ADAPTABLE JEEP
Lateral Arm Bushing

Weight: 0,233

WRANGLER

MODEL NO BODY YEAR DIRECTION OEM NO

JK 2007-2018 Rear Upper 52060015AF*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 59

JE-368 Lateral Arm Rear Upper 52060015AF

TEKNOROT REF: KI-605 ADAPTABLE KIA
Ball Joint

Weight: 0,754

CARENS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2013- Front 54501A4000*, 54500A4000*

Length: 75,5

www.teknorot.com 36

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



2021 October

TEKNOROT REF: KI-708 ADAPTABLE KIA
Lateral Arm

Weight: 2,12

CARNIVAL

MODEL NO BODY YEAR DIRECTION OEM NO

III 2006-2014 Rear Right 552404D000

Length: 403,5 Bolt Metric: M14X1,5

TEKNOROT REF: KI-708 ADAPTABLE KIA
Lateral Arm

Weight: 2,12

SEDONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2006-2014 Rear Right 552404D000

Length: 403,5 Bolt Metric: M14X1,5

www.teknorot.com 37

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm








































